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Similarity in Right Triangles

Q
Identify the following in right AQRS. T
1. the hypotenuse / &T{}
2. the segments of the hypotenuse QT TR. S R

3. thealtitude ST
4. the segment of the hypotenuse adjacent to leg @ '@'{;

Write a similarity statement relating the three triangles in the diagram,
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Algebra Find the geometric mean of each pair of mlmbers
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Name Class Date

7 4 Practice continued) Form G
Similarity in nght Triangies

Algebra Solve for the value of the variables in cach right triangle,
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The diagram shows the parts of a nght triangle with an altitude to
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the hypotenuse, For the two given measures, find the other four, y hy = (9\@
. Use simplest radical form., Iy a
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in. and 5 in, segments. What is the length of the altltude‘?
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.y th t rl} U 37, Error Analysis A classmate writes an incotrect proportion

\‘ .4, to find x. Explain and correct the error. ><§

38. Draw a Diagram The sides of a right triangle measure 6./3 in., 6 in,, and 12 in. If
an altitude is drawn from the right angle to the hypotenuse, what is the length of the
segment of the hypotenuse adjacent to the shorter leg? What is the length of the
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7 5 Practice Form G
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Proportions in Triangles
Use the figure at the right to complete each proportion, / \
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To solve for Xin the triangle below, which method should we use?  {checkone)

Proportion

{a) side-splittingtheorem

{b) Or similar trianglas

To solve for X in the triangle below, which method should we use?  {check one)

{a) side-splittingtheorem
{b} Or similar triangles _/
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21. Error Analysis Your classmate says you can use G 13 H

the Triangle-Angle-Bisector Theorem to find the X

value of x in the diagram. Explain what is wrong F ‘

with your classmate’s statement, P
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22. Reasoning An angle bisector of a triangle divides the opposite side of the
triangle into segments 3 in. and 6 in. long, A second side of the triangle is 5 in.

long. Find the length of the third side of the triangle. Explain how you arrived at
the correet length,
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Geometry21 7.3 Proving Triangles Similar Practice name %Lm per
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3} Given: trapezoid ABCD with AB}{ CD and diagonals intersecting at point R
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Are the following triangles similar? If yes, give the postulate or theorem and complete the similarity statement.
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16. 17. Given: LM=2P, 20220

Prove: AGHI~AJKL
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2522 /UTV

U
T/\V

o

Z
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Selve for x, The pelygoeus in each pair are similar,
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21} Jamie’s Dad is six feet tall. Standing outside, his shadow is eight feet long. The tree next to him has a shadow that is

sixteen feet long. Given these dimensions, how tall is the tree?
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22) 1tis 6.5 feet from the ground to Tony’s eyes'and"he is standmg 3 feet from the
mirror. The mirror is 24 feet from the base of the tree. How tall is the tree?
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